
Section 2.4 

1)  equation of circle  (x-3)2 + (y- (-1))2 = 22 

 

 

 

  



 

3)  equation of the circle  (x- (-4))2 + (y-1)2 = 32 

 

 

  



 

 

5)  equation of circle 

 (𝑥 − (−3))2 + (𝑦 − (−2))2 = (
1

2
)
2

 

 

 

  



 

7)  equation of circle  x2 + (y-2)2 = 52 

 

 
 

 

  



 

9)  equation of circle  (x-3)2 +(y- (-1))2 = 12 

Center (3, -1)  radius  1 

 

 

  



 

11)  equation of circle (x-2)2 + (y-3)2 = 32 

Center (2, 3)  radius 3 

 

 

  



 

 

13)  equation of circle  x2 + (y-3)2 = 52 

Center (0, 3)  radius 5 

 

 

  



 

15)  equation of circle (x-3)2 + y2 = 72 

Center (3,0)  radius 7 

 
 

 

  



 

 

17)  equation of circle x2 + y2 = 22 

Center (0,0)  radius 2 

 

 

 

 

 

19) equation of circle  (x- (-2))2 +(y-3)2 = 52 radius 5  

21) equation of circle  (x-5)2 + (y-2)2  = 72  radius 7  

 


